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. Examinee must write his/her Roll Number in the

specified box on the top left hand comer of this page.
Answers are required to be marked only on the
Computerised O.M.R. Answer sheset which is belng
provided to the examinee.

. Besides ftlling in the Roll Number, the examinee has

to put his/her signature on the Answer-Shest and also
fili other raquired details like Name, Roll Number,
Question Booklet code, elc. as indicated on the OMR
Answer Sheet. If these detalls are not filled in by the
examinee, his/her Answer Sheet will not be evaluated.

. For each question, there are four alternative answers,

out of which only one is correct. Examinee must darken
the circle of corract oplion in the #gpwer Sheet by
Black Ball Peh only.

. There are 24 (20+4) pages in this Question-Bookiet

including 1 page for General Instructions and four
blank pages. for Rough Work in the last. In case an
examinee receives an incomplete or defective
Question Booklet, he/she_should make a request to
the Room Invigilator to change the same within 10
minutes of start of the exam.

. This Question Booklel contains 50 questions from

following subject :
(1) Biology Q.Nos. 1-50

. Each question carries 1 mark and % mark will be

deducied for each wrong answer.

. Possassion and use of electronic devices such as

Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, elc., are restricled during the examination.

. Any leaf.from the Question Bookiet should not be

detached. After the Examination, Question-Booklet
and Answer-Shest must be handed over to the Room
Invigilator,

. During examination the examinee will not he allowed

to leave the examination hall tili the END of the
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1. Select the correct statement.

A) Acetobacter ‘aciti produce citric
acid

B)/ Saccharomyces cerevisiae is used
.asiclot:buster

C): Penicillium notatum restricts the
growth of staphylococci

D). Methenogens are found'in aerobic
conditions

2. Read the statements and identify the
right option.

Statement|: Human liverfluke
* depends on two
intermediate hosts they
are snail and fish.

Statement Il : The life cycle of
Endoparasites are very
simple because of their
extreme specialization.

" A) Statement | and Il are correct
B) Statement1and!l are incorrect

C) Statement l.is correct and ll is
incorrect

: D) Statement | is incorrect and ll is
correct

{, W& I R A |
A) @ﬁmq&ﬂﬁﬁf&aﬁqﬁi@maﬂm

FT R

B) wRTEYE SRR 1 S o
e % 9 H o o R

C) Wfifaferm Ao Rk i afa
w1 fiefe Far R

D) ASSRE Tlifers BTerd § UIC ST @

2. % i 4 3R Tt forpen g |

O | . HE Yo A S Al Hiel
3t et BoeH Wt B3 E

.mllzmmfﬁ‘-ﬁmﬁam@
TS Taged % Sliam < siga 8t
eI 0 B

A) HoT | 7 il Tt
| B) U | aut |l TEd
C) &Y | &, |l e

D) %= | e, 1l Gt
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3. In the DNA molecule

A) the proportion of adenine in relation
to thymine varies with the organism

B) there are two strands which run
antiparallel one in 5’ — 3 direction
and other in @ > 5' direction

C) the total amount of purine
nucleotides and pyrimidine
nucleotides is not always equal

D} there are two strands which run
parallel in the 5' — & direction

4. Which one of the following is wrongly
matched ?

A) Transcription — Writing information
from DNA to tRNA

B) Translation — Using information in
mRNA to make protein

C) Repressor protein — Binds to
operator to stop enzyme synthesis

D) Operon - Structural genes,
operator and regulator

| A G
3. DNA a1
A) 887 % da & e 1 s she ¥
Y T @l 8

B) I fri €St 5 > & &t Ry & 3in
I 3 o & R e e

C) ol ~jfrrmiernsd it msifiery
AfFeresey i Fe TE SR uw
& et

D) A fFei €= 5' — & R % wEiER
Hed ¥

4. TR ABT W aAwR 7

A) witeiE — DNA T tRNA § geamii =t
ToE

B) 3TaE — mRANA T gl &1 39gim
T W FHET

C) wat S — U e o et
% o1 TR A =i

D) AR — SEA™HE SH, et 3k
Fams |
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Select the incorfect statemen;(. 5. 398 | e YA ﬁai i
A) Hybrid seeds must be produced A) TRRrE T frERaH T w1 FH H
every year to obtain maximum 70 & a9 gL AN A eI fret
advantages of heterosis e
B) Heterosis is lost by inbreeding B) %%irﬁm i S T A A R
C)’ A pure-line is the progeny ofalarge / : C) T TS W' Aot TR q*rtﬁ
number of heterozygous self v wh T PP
pollinated plants :
35 D) IMgaRmh fyfreran o T e % !
D) Genetic diversity is being or is ) 5 e 2 Anig
likely tolbe used inthe improvement :
of domesticated plants 'i
6. 3Tt @ T W wfea Fiew & forg AR !
5. Which of the foliowing is not an example TR
for degenerate codon ? A) wfF 5
A) Leucine B) e
B) Alanine
C) Tryptophan ) i T
D) Glycine - D) WRRA
7. Which of the followingiis not a 7. T QA A gigifeT DA
characteristic of Drosophila e AR R ?
melanogaster ? :
A) They are dioecious flies A) 3 SEIRSE et &
B) The genes studied by Morgan B) A B 3TEATH form T S 3T
found on different chromosofmes 1o S 8§ I T ¥
€) They show many types of heredity ? e
C) 3 srEfRal % T H I
variations ) 8
D) They complete their life cycle in D) @M & TR 3 & A Wfi T Ll [
about two weeks: 90 A ©
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8. Read the statements and identify the
right option ;

Statement!: Due to continental drift
pouched mammals of
Australia survived.

Statement ll: South America joined
North America due to
continental drift, -

A) Statement | and Il are correct
B) Statement{and Il are incorrect

C) Statement 1 is correct and || is
incorrect

D) Statement I is incorrect and llis
correct ’

9. Identify the mis-matched one,

A) Australopithecus — hunted with
stone weapons

B) Homo habilis —brain capacity 650 cc
- C) Homo erectus — ate meat

D) Modemn man arose — 10 thousand
years back

(A E
8. el ot TeE wEt ey g | _

wHA | Fiieest few & s
sifegferan & fiem gam
Tt &9 T |

HATN : ﬁaﬁmﬁﬁm,waiﬁﬁm
& WY Fi-Sted five %
HIT T | |

A)aﬁuqlaﬁllaiﬁ

B) 9= | auT Il o

C) 7 | et oo =e || e

D) = | TTora o o | 9

9. ¥ Y yg=Y |

A) a@ﬁﬁﬁm—w%aﬁaﬁﬁm
T

B) Bwir sriarory — s w1 ame 650 co
C) mm-m@ﬁé
D) s e v — o0 s A vesy
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Which of the following contains only 10. it ] et fod s wfeRe @ 7

bacterial disease ?

oy . A) FIeW, THFES, ELUSE
A) Cholera, Typhoid, Pneumonia

B) Mailaria, AIDS, Cholera B) WA, TEH, e
C) Typhoid, Tuberculosis, Influenza C) TEHIES, FEGaIE, FIRIEn
D) Diébetes, Malaria, Syphilis D) i, wata, e

Diversity of which of the following given 1. e 9 2 fra g &t R

groups are maximum ? AR e 7

A) Fishes - A) U :

B) Algae B) fTe

C) Fungi - C) Faw

D) Amphibians ;'3) LY, |

.- The oceanic carbon reservoir canstitutes 12. A FEITAME R ___ TEAFT@E |

A) 49% A) 49%

B) 71% B) 71% : |
C) 50% C) 50% |
D) 79% , D) 79% |

Page No. 7 5CEB

——

\—

:
Qcollegedunlag
S i o S YT 0 's largest Student Review Platfort m



~ 13. More recombinants types are formed
when

A) the genes are located very near to
another on chromosome

B) the genes located far away from
one another on chromosome

C) the crossing over is very less

D) the genes aré located only on

Y-chromosome

14. Identify the correct combination showing
the blood group with their respective
antigens (sugar), antibody genotype
and special character.

Blood Antigen Antibody Genotype Special

Group present/ Character
Sugar
A A B b AB  Most
common
type
B) B A a B8 Found only

In India

C) AB AorB none |A|B Co-
dominance

AN AR

13. i S TR a9 € v
A) S vEm T T g 3 e fBe 2
B) S widisi # U qEt ¥ R R R
C) ST o7+ gt @

D) s Y-wimsim § @ g 8

14, TR G 1 T HeR whiow, G

D) O Neither Botha

AnorB andb

1919  universai

donor

=rn

Sfitery R iy =fe & e Rar s
e TS Y IEEH
wa  ufeem Waidt Rresy R _
wE e/ e i I
A A B b A8 Ty |
: T
THR
B) B A a BB Few g
A e
C) AB AorB aﬁ'{%“f A8 giser
D) O A& a 1010 wrhitfie
Bysfiadt A9l b gmar
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5. Identify tﬁe mis-matched one.
A) CUU - Leucine
B). GGU — Glycine
C) GCU — Alanine

B} GAA — Valine

'6. Which of the followingiis not-a sexually
transmitted disease ?

A) Acquired immune - deficiency
syndrome

B) Trichomiasis
C) Syphilis

D) Tetanus

7. In the womb of the mother the first heart
sound of the foetus can be heard by

Stethoscope at

B) Third month of pregnancy
€) Fifthimonth of pregnancy

D) Sixthimonth of pregnancy

15. 37 A 939 & T |
A) CUU - Leucine
B) GGU — Glycine
C) GCU - Alanine

D) GAA — Valine

16 8 2 i A R 7
A) T TR R g
B) dsiaTR
C) fufRma
D) 1™

17. of & 79 & 4O & %I &I I5ehl @A
TR F e G ST 2 7

A) TiaEn % YEe WE o
B) iaer & el adH # -
C) e & gi=d HEA o
D) mieer & B TR |

)
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18. Read the statements and identify the
right option.

Statementl: Mild foetal ejection
reflex is induced by

placenta.

Statementll: Foetal ejection reflex
triggers the release of
oxytocin from the

. ovary.
A) Statement | and |l are correct
B) Statement | and Il are incorrect

C) Statement | is correct and Il is
incorrect

D) Statement 1 is incorrect and Il is
correct

19. Identify the incorrect staterment
pertaining to contraceptives from the
following. :

A) Most widely accepted methods of
contraception in India is Intra
uterine devices

B) Surgical intervention blocks
gamete transport and thereby
prevent conception

C) Pilis inhibit ovulation and
implantation as well as alter the
quality of cervical mucus and
retard the entry of sperms

D) IUDs are useful only before the
coitus

0 0 A

18. et ) vew, Wt e g

cocd i Bﬁ?%ﬁﬁ‘ﬂwuﬁﬁﬁqaﬁ
e 510 S foma s 21

wATI YO T SO Ve e
¥ i Y ferd =t fon
A g

A) Fga | o |l w7
B) #uA | qu I T g
C) A | udl, %o || 7T 8

D) e | e, 9 |l TE ]

19, frafafe i ¥ RS Seth $9 @ 7
T g ?

A) 3R THITRIETEA] IYHTT HRA H
mifeE % @ 9 =eE €9 9
IAEEMIEE

B) gftae T MHUR FF I F T
e fheaT TEI&Y ITa%g, T 8

C) it feeasi aft s & am-

i e 3 senT Y TerE
et it & SR pnTuRet o T o el B

D) IUD weara @ g € Suged & 8
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20. The regression co-efficient for 20, fafm 7RIl F SWEReH STt # Wiee
frugivorous birds in tropical forests of uftrit 3 R wRrm 1one 2 |
different continents is

A) 0.1
A) 01
B) 1.5
B) 1.5 )
C) 1.15 ) i
D) 1.75 D) 1.75
21. Match the following : :
Column|| Columnl i 21. Fem 5 i
a. Gause p. Resource sl wll
partitioning a. MY p. SETEE frHeH
b. Connell g. Exclusion b. TS q. sfRssw Rigid
: principle o i
c. Mac Arthur r: Competitive 2 £
release d. SEiaee-ud s. ST Ii¢ aF
d. Verhaust-Pearl s. Logistic growth A) a-g,b-p,c-s, d-r
curve
B) a-r, b-p, c-s,d-q
A) a-q, b-p, c-s, d-r
: C) a-q, b'r'l c-p, d-s
B) a-r, b-p, c-s,d-q
C)le b lontas D) a-r, b-s, c-q,d-p
D) a-r, b-s, ¢c-q, d-p ; :
22. eRi-dient fogia sarar ¢ & dveftato

22. The Hardy-Weinberg principie explains I R {

thatthe speciation is dueito
A) TR TEA™
‘A) Morphological changes
B) Chromosomal changes B) 3
C) Gene frequency changes C) SfH Tgfies sEeE
D) Acquired characters D) it gt
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23. Multiple alleles are characterized by

" A) more than two alternate forms of
genes found at different loci

B) more than two alternate forms of
genes found on same loci

C) one gene occurs in two
chromosomes

D) none of these

24. Which of the following is a mis-matching
pair of the disease and medicine ?

A) Emphysema - [-antitrypsin
B) Cancer — Alpha interferon
C) Blood clot ~ Streptokinase

D) AIDS — Penicillin

25, Identify the right pair of the extinct animal
with their country.

R

23. SRTT TRTe F T T YRR Fan S
T &
A) fafim Shl 3 U sETe 31 @ ot
it S

B) U € Siehl ¥ I SaTr 3 § o1
Fepfeyss A

C) T < 2 s § wi
D) 37 & #E 7

24, AR WA AN AR T ARG R 7

A) TRt - | TAR
B) HIRR — TR oA
C) & Tl YTl — BEd
D) AIDS - ¥Rl

25. frea vt o 3 39 w1 WA SR

i L
Animal Country

, A) SiEl x|
A) Dodo Russia :
B) Thylacine - Australia B) e Tesfera
C) Quagga Mauritius C) = LLUNEE
D) Stellar Sea Cow  Africa D) ReeR WHg Ty ST
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;. The restriction site recognized by
enzyme EcoRl is

‘A) CCGGGC
B) CTGCAC
C) GAATTC
D) AAGCTT

7. Which one of the following is not
" correctly matched ?

A) Dengue Aedes mosquito

B) Malaria Female Anopheles

C) Amoebiasis Houseflies
Droplets

D) Ringworm

-

8. Which of the following enzymes is not

produced by E.coli during lactose
catabolism ?

. A) p-galactosidase
B) Galactoside transacetylase
C) Carbonic anhydrase

D) Lactose permease

’9. According to HGP, the longest gene

consists of
A) 3, 164, 7 million base pairs
B) 3000 base pairs
é) 2968 hase pairs

D) 2.4 million base pairs

26, GSTEH EcoR| ERI TEsIF T Wiey ae

A) CCGGGC
B) CTGCAC
C) GAATTC

D) AAGCTT

7. T q Frem daeA ad € 8 7

28.

29,

A) 39 TSN 7St
B) Weiten AT CIfkfeE
c) sfifeenfem  wfReat

D) @ 4l

= 7 & =7 T doEa 1 W §L Wl

T AT AEEEE F oA e e

TR ?

A) p-TeFafia

B) Nemdiie gEateEa
C) wihE TR
D) WM WHH

HGP ¥ ER T=d o o1 # a§ wIe
{ ez o) BIE

A) 3, 164, 7 Tafemm

B) 3000

C) 2968

D) 2.4 fifere

—
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30. In Mung bean, resistance to yellow
mosaic vitus and powdery mildew were
induced and developed by

A) Mutation breeding

B) Hybridization

C) Polyploidy breeding

D) Recombinant DNA technology
method

31. Capacity of a plant celi to give rise to
whole plant body is known as

A} Reproduction
B) Budding

C) Totipotency
D) Regeneration

32. Apopulation has more than 50% in post
- reproductive age group; accordlng to
you such population is

A) stable

B) declining

C) increasing

D) showing biotic potential

33. ADA deficiency can be permanently
cured by

A} Bone marrow transplantation

LR AR

30. T fiv #, oY g e ok et ey
%+ wiody =t BT AfE it
Fwfm Fmmn g

A) SeaiEda SeFE

B) Hemur

C) iciiemset Yo

D) [: T Feu e f&fy

31. §F iy &1 amed S w9 F oy 3

5 o g 3% FEd 2|
A) TS

B) T=ifew

C) afeure~=h

D) s

32. U T F 50% wiw & SR Yo ¥
maa?raaaw%% IA9F AR 39 TFR
&I T R
A) &R -

B) sgmaTet
C) et
D) Sifeer emar Y et

33. ADA =l =[Fa1 =i 9% 310 IEd ¥ @
3 o S weaT R

during infancy A) =9 B TS % TRIRIYW & R

B) Enzyme replacement therapy at B) ui= @t it 31 & wremew wRwers
the age of five Faferear grg

C) The infusion of genetically C) gafies w9 § $efifae Rewrarest
engineered lymphocytes I AT

D) The introduction of the ADA- D) ADA- 3eareT ST Y ot v
producing gene into the PR § aniRe 565
embryonic stem cells

Page No. 14J 5CEB
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\4. Restriction endonuclease breaks bond
between the

A) Base pairs of DNA molecule

B). Sugar-phosphate backbone of
nueleic- acid

C) Exons:and introns in cistron

D) N-glycosidic bond between sugar
and base

}5. Select the wrong statement.

A) Our present day crop plants are
entirely different from their wild
ancestors

B) Almost all our present day crops
‘are the result of selections carried
outby the prehistoric human beings

C) Seeds and plant samples of only
genetically superior and cultivated
species are introduced from one
country to another

D) Genetic diversity of our crop plants
must be conserved

3_6.- rDNA is produced by joining
A) one mRNA with a DNA segment
B) one: mRNA with plasmid DNA
C) two RNA molecules
D) one mRNA with a polypeptide

34, witag TEREICS ¥ g FeH
W e |

A) DNA 3TV & HTER SIS

B) =T ufre i SHi-wieke g &
&gl

C) frm # w3k 3o
D) <t e Fa F - dt

35, TH | TeTa FAH gAY |

A) TR FUAF T & wEA % N I
STeft geiit § G{iate oTe &

B) T @t TR adE B F v
TRERE Fet g B R S
i &

" C) ¥au JigEReE €9 8 I it adt f
 SWETE yentat & sie 3T 9 F w
TR U 3 W g 3 A R
EIGA
D) g9 waa Ml A et Efawm
EAK:EGRE IS C 5

36. Tl SiIg & rDNA Seamiea grar a 7
A) T mRNA % @19 T DNA itz
B) T&% mRNA & @1y wifeie DNA
C).3 RNA Hiciaed
D) @ mANA % T T TTdNeEs

[ Page No. 15]
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37. Plasmid is a

A) extrachromosomal, self replicating,
double stranded, linear DNA of
bacteria

B) chromosomal, self replicating
double stranded, circular DNA of
bacteria

C) extra nuclear, self replicating,
double stranded, circular DNA of
bacteria

D) nuclear, self replicating, double
stranded, circular DNA of bacteria

38. Find out correct statement about Bt toxin

A} Bttoxin exists as an active compound
in the Bacillus '

B) Bttoxin is produced by cotton plant
to kill pest

C) The activated toxin enters into
ovaries of the pest and the pest
kiled

D) The inactivated prototoxin gets
converted into active form in the
insect gut and kills the insect

39. Elution means

A) cutting and extraction of DNA
bands from the agarose gel

B) separation of DNA fragments on
agarose gel

C) making the DNA fragments visible
when exposed to UV light

D) isolating a desired gene from DNA
of an organism

R E R

37. wnidE

A) w&aaﬁﬁsﬁmm’tﬁ%ﬁnw
wids, s =1 aw DNA

B) aﬁﬁﬁm,mﬁﬁn,w@@g,
SHRITET TR DNA

C) e =ifaerr, e eersten, T
I, samii@n = densi DNA

D) =yfaera, W ekt FAT WeE,
SUTRITET T et DNA

38. Bt TR + famm & wdt wem )

A) Bt e fraefie e & w1 3 du
Fed war e

B) Bt i w9 & didl g el @)
I % T senfRa e e 2

C) e % sienm § framie T w39
e & 3 Fe nrg s 2

D) frmfEa WidkifRe frwie o
% F9 ° Faa e F ong o o1 =
AT 8 '

39. & w1 W &
A) TG I & DNA 372 F1 a1 a1
Trerdor e
B) TR Siet % S DNA ¥ gohel =1
e
C) UV il & DNA & ga w1 ToR
S
D) sfig =1 DNA g0 w= ifsa sty =t

5CEB
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10. One of the following supports declining 40, FirfRem 3 g set 3 firrae 2 s

phase of a population ' 1 AT T ¢ |
A) Mortality > natality= - - A) TR > TR
B) Natality. > mortality - B) W& > TgEl

C) Mortallty = natality C) W = TS

D) Natality — mortality = 0
D) S — egel = 0

1. Zoospore is a

41. 31 SEm] (SeR) @

A) haploid non flagellated spores

A) 3T TR ST
B) haploid flagellated male gametes '
B) *wfr sumETa R g
C) haploid female gamete
: C) fm "l Ik
D) haploid flagellated spore

~ D) 3nyfor smemen sfiamg

2. The list of agents of pallination and the

42, T % R qor T 3 ok
A RO 0 i G S

technical words used to describe the

pollination are given.below. Identify the

correct pair. Sitg1 T |
A) =Mélécophiliy Pollination by snails A) BTmRifthelt e T
B) Entomophilly ‘Pollination by birds B) Gitfhefl vl
C) Ornithophilly‘Pollination by winds C) =nfuitfeeht =g wamwr
D)’ Anemophilly  Pollination by animals D) whalfeelt | nfer s
LPage No. 17 ] 5CEB
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43. Which of the statements is correc*t ?

A) cleistogamous flowers always

exhibits autogamy

B) chasmogamous flowers always

exhibit geitonogamy

C) cleistogamous flowers exhibit both

autogamy and geitonogamy

D) chasmogamous flowers never

exhibit autogamy

44. One of the ex situ construction methods

for endangered species is
A} Wild life sanctuaries
B) Biosphere reserves
C) Cryopreservation

D) National park

45, [UCN stands for

A) International Union for Nature and

Natural Resources

B) International Union for
Conservation of Nature and
Natural Resources ;

C) International Union for
Conservation of Natural
Resources

D} Internationat Uhion for
Conservation of Nature

N O

43. FH AT A I gl & 7

A) iR e TR = i A
T §

B) I=ftat gt T ARt = s §

C) S e B TaT Wit o
AT ) qwia &

D) 3Hi& wuroft w3t ot Tl &t
UL

44. ey el % 1 ex situ Fio vefr @

A) FSHE TR
B) 99 HEst WeR
C) ey
D) Tt 3

45. IUCN = qaee &

o
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ey

B) SeWTHT ZH9T B HETH 36 TR
HiT AT R

C) SeHiTAe gFEA B F[byH AT
T |

D) TEHME AT R FGYT oTH
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48. One of thé agricultural practices of 46.

breeding and raising livestock is
called

A) Veterinary science
B) Dairy farm management
C) Cross breeding

D) Animal husbandry

7. Mule is a cross breed obtained by
crossing

A) male horse and female zebra
B) male donkey and female zebra
C) male horse and female donkey

D)_male donkey and female horse

18. ldentify two rice varieties used to

% Feref Tyt =t S STy ahk
I g

A) uxifaferea fmm
B) TN e
C) R W

D) iftr HfY

47. @ﬁt@ﬁﬁﬁm%,mﬁwmmﬁ

A) wreT ST AT Sfisn
B) e SR wre s
C) uier afi meh

D) mut siR &gt

48. 9= F el it Fard g o1 s 9Ew

develop semi dwarf variety of rice ALl 2

“A) IR-8 and Taichung; native-1 A) IR-8 3T 35T Afe-1
B) Sonalika and Kalyan Sona B) GrferaT 39N Tl %ﬁ?ﬂh
C) Jaya and Ratna C) v/ 3R W

D) Kalyan Sona and Jaya
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49. Which one of the statements regarding
asexual reproduction is false ?

49, T ¥ T 91 9T 7 g & Rem

_ e ?
A) Offsprings are similar to their
parents A) gafe arar-fiar Sef i 2
B) Reduction division takes place B) aTSifirr YoMT % SO Yo fuTE
during asexual reproduction
. 3 BT 8
C) Offspring do not show variation t

C) Hafd ¥ g wdh el g
D) Zygote formation does not take

place D) o 7 & B

50. Match the Column | with Column Il and
select the correct option fromthe choice | 50. T | el || 3 Tirsi =d §U Wt ke o

below : . )
_ w9l wa
Column | Column |l
| a. wiefefSmE i, et
a. Polyembryony i. Commelina
b. SEIREY ii. o™

b. Dioecious ii. Grass

c. T iii. @SR
d. smfufeag iv. forgg

c. Cleistogamous iii. Date palm

d. Apomixis iv. Citrus
: a b ¢ d
a b ¢ d

A) (iv) (i) @) (i) |

A) (iv) @) @ (i) . |
B) (iv) (iiiy (@) (i) _i

B) () (i) (i) (i !
C) (iy () (v) (i) |’

C) (i) 0 (v) (i)
D) (il (v) () (i)

- D) (i) (v) () (i)
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